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PART—I : COMPULSORY / iT1T1_I: 31Icii4 

GENERAL STUDIES 

1. Which of the following diseases cannot 
be cured by antibiotics? 

(a) Tuberculosis 

(b) Tetanus 

(c) Measles 

(d) Cholera 

2. Which of the following pairs is not 
correctly matched? 

(a)  Computer : Charles Babbage 

(b)  Radio : Karl Benz 

(c)  Barometer : E. Torricelli 

(d)  Dynamo : Michael Faraday 

3. The communication satellites are 
invariably 

(a) revolving at their own speed 

(b) stationary 

(c) geostationary 

(d) changing their track and speed 

4. For which substance among the 
following, conductivity increases with 
temperature? 

(a) Copper 

(b) Germanium 

(c) Silver 

(d) Iron 

5. The area of a regular hexagon of side 
2J cm is 

(a) 12.J cm2  

(b) 18/ cm2  

(c) 18 cm2  

(d) 18/ cm2  

3. jcf 

(a) 3 ir .4   t 

(b)  

(c)  

(d) 3iT 

4. lH1iPsic1 4.4 1icGl I1c*it cii's 

(a) iYi 

(b) 114 

(c)  

(d) ili 

5. cm I1T c  

(a) 12'Jcm2  

(b) 18/ cm2  

(c) 18 cm2  

(d) i8fcm2  
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6. If 2x+-=3, then the value of 

is 

(a) - 

(b)  
8 

21 
(c)— 

(d) 

7. If one of the roots of the quadratic 
equation 2x2  + px + 4=0 is 2, then the 

other root is 

(a) -2 

(b) -1 

(c) +1 

(d) +2 

8. In which State was the militaiy exercise 
'Vijay Prahar' held in May 2018? 

(a) Maharashtra 

(b) Gujarat 

(c) Rajasthan 

(d) Madhya Pradesh 

9. Who has won the Women Singles Title of 
Badminton in Commonwealth Games, 
2018? 

(a) Saina Nehwal 

(b) P. V. Sindhu 

(c) K. Gilmour 

(d) Michelle Li 

10. In the World Press Freedom Index, 
2018, India is placed at 

(a) 135th 

(b) 136th 

(c) 138th 

(d) 137th  

6. 2x+-=3t, 
x 

3 
(a) - 

(b) - 

21 
(c)— 

(d) 
8 

7.rf r1lcn i41et'T 2x 2 +px+4=0 T 1 
¶1 2 , iI *1cI1 ji 

(a) -2 

(b) -1 

(c) +1 

(d) +2 

8. 2018   U 3iTT '1i4 
w-i4 

(a)  

(b) 'iii 

(c) tiit4 

(d) 1T 3IT 

9. iif , 2018 .s1 -M i 1it (f 
Ic1I1 ftci? 

(a) *ii1 ciii 

(b) tfo o r  

(c) o çj4 

(d) IIft 

10. f T -c1d1f 2018 

(a) 135 

(b) 136i 

(c) 138T 

(d) 137i 
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A.  

B.  

C.  

D.  

11. In which of the following texts, it is 
stated that those who could not speak 
Sanskrit language correctly were called 
'Mlecchas'? 

(a) Shuetashuatara Upanishad 

(b) Gopatha Brahmana 

(c) Brihadaranyaka Upanishad 

(d) Shatapatha Brahmana  

11.r I""t 

4ii ii '' 

cl 'iict1 eli? 

(a) T&?T I:?c 

(b) 'ñV2l t!ui 

(c) $cI(uqq 

(d)  

12. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I 

(King) 

A. Chandragupta I 

B. Samudragupta 

C. Chandragupta II 

D. Kumaragupta I 

List-Il 

(Spouse) 

1. Dutta Devi 

2. Kuberanaga 

3. Kumara Devi 

4. Ananta Devi 

Codes 

(a) A 
2 

(b) A 
3 

(c) A 
3 

(d) A 
4  

B C D 
3 4 1 

B C D 
2 4 1 

B C D 
1 2 4 

B C D 
3 1 2 

(a) A B C D 
2 3 4 1 

(b) A B C D 
3 2 4 1 

(c) A B C D 
3 1 2 4 

(d) A B C D 
4 3 1 2 

GS-B 5 [ P.T.O. 
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13. With reference to the book Arthashastro 
which of the following statements is/are 
correct? 

13. 32f.v7J 1it1SIcI 

1. It is the oldest masterpiece on 
Indian State Policy. 

2. There is no description of Mauryan 
empire and administration in this 
book. 

Select the correct answer using the 
codes given below. 

Codes 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

14. Who among the following addressed 
Delhi as one of the greatest cities in the 
world? 

(a) Ibn Batuta 

(b) Alberuni 

(c) Farishta 

(d) Abul Fazl 

15. Who is known as the Father of India's 
Local Self-Government? 

(a) Lord Lytton 

(b) Lord Ripon 

(c) Lord Curzon 

(d) Lord Daihousie 

16. At least how many days are required 
to give the prior notice for the 
impeachment of the President of India? 

(a) 7 days 

(b) 14 days 

(c) 21 days 

(d) 30 days 

1. 1 RT U1iR14 

MIvfl.1111 R1I 

2. i 4W itt' iii u*i.ict ir 

ft ji iii: c , 

(a) cicf 1 

(b) c4  2 

(c) 12i1 

(d) TIt13Il2 

14. 1 1 cD{ i1 
1 'i dI4I? 

(a) T1T 

(b) ifl 

(c) fl.eii 

(d) 3t 

15. 'TWE if iifri *ti ii.i 
tIc1r 

16. Tf ; (I41I tR  ir4ti 
 1cict 

(a) 71 

(b) 14i 

(c) 21fI 

(d) 30fT 
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17. Who administers the oath of office and 
secrecy to the Governor of a State in 
India? 

(a) The President of India 

(b) The Vice President of India 

(c) The Chief Justice of the High Court 
of the State 

(d) The Speaker of the Legislative 
Assembly of the State 

18. Which Part of our Constitution 
envisages a three-tier system of 
Panchayati Raj? 

(a) Part IX 

(b) Part X 

(C) Part XI 

(d) Part XII 

19. Which of the following States has no 
oil refinery? 

(a) Gujarat 

(b) Kerala 

(c) Chhattisgarh 

(d) West Bengal 

20. Which of the following rivers does not 
flow in Australia? 

(a) Hunter River 

(b) Flinders River 

(c) Orange River 

(d) Gilbert River 

21. Which of the following States recorded 
decrease in its population in 2011 
Census? 

(a) Kerala 

(b) Sikkim 

(c) Nagaland 

(d) Manipur 

17. 'R 
ifl *r 1iciicii ? 

(a) 1T T kI9I 

(b) 1T T 4I1i 

(c) kI'r4 d iii4 T s1 iii1%ftT 

(d) TZT itTR r%lT T 3TtTT 

18. k  f 'mi 
o4f T 14 1ir ii? 

(a) W1 IX 

(b) V1X 

(c) W1IXI 

(d) WT XII 

19. -iR1ft(f fttiicii wt 

20. 1iRf R 

(a)  

(b) ii-s4 1&c1. 

(c) 3ThI 1kc 

(d) 1Iv1 fc 

21. F&i1td ii ( 2011 l  

i ? 

(a) 'f 

(b) f14 

(c) iiit  

(d) HIltk 
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22. Which of the following is the most 
effective measure of population control 
according to Maithus? 

(a) War 

(b) Disaster 

(c) Birth control 

(d) Social evils 

23. Which of the following is not a biome? 

(a) Desert 

(b) Grassland 

(c) Ecosystem 

(d) Tundra 

24. Dudhwa National Park is situated in 
which of the following States? 

(a) Assam 

(b) Uttarakhand 

(c) Rajasthan 

(d) Uttar Pradesh 

25. According to the Fourth Round of 
National Family Health Survey, the 
current TFR (Total Fertility Rate—
children per woman) is 

(a)  22 

(b)  32 

(c)  42 

(d)  45 

22. 3R fHR1ftcf uq 
q-14uj ' riT ? 

(a)  

(b) 31VTT 

(c) 5Ti—l41uI 

(d) iiiIi  uqi 

23. 1iH1iRf l-T t w ? 

(a) )J'iiii 

(b) mT T -TT 

(c) iftf4 

(d) ui 

24. TT tif IT4 1H11Rcf •z:1 

(a) .3RT1 

(b) iwu~ 

(d) 3R MI 

25. l)4 
3IR, 

'lIciR TT 11UT vl 

*icIu.f to o 3o ( 1*i4 

(a)  22 

(b)  32 

(c)  42 

(d)  45 
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28.  

(a) i'jit'fl iift kcb 

(b) RT :  

(c)'1T : 

(d) TT : 

29. 1-T-1 T kiictI 

(a) 100% 

(b) 200% 

(c) 250% 

(d) 300% 

30. 

'l41 .1'Jt1I 

(a) I'bdl :  

(b) ii : 

(c) 3T1ft :  

(d) RT : 

26. Which of the following census years is 
known as the 'Year of Great Divide' in 
India? 

(a)  1911 

(b)  1921 

(c)  1951 

(d)  1991 

26. 1.iIiRci M4luH1 1R1 

'' T1r? 

(a) 1911 

(b) 1921 

(c) 1951 

(d) 1991 

27. SRI method is related to 

(a) wheat 

(b) cotton 

(c) mustard 

(d) paddy 

27. To 3m0 To 11 * 

(a) Q 
(b) c'i{ 

(c) 1kl 

(d) %1T;r 

28. Which of the following pairs is not 
correctly matched? 

Crop Insect-pest 

(a)  Groundnut Pod borer 

(b)  Gram : Pod borer 

(c)  Paddy : Banka 

(d)  Maize : Stem borer 

29. The rotation intensity of Maize-Potato-
Mung bean is 

(a)  100% 

(b)  200% 

(c)  250% 

(d)  300% 

30. Which of the following pairs is not 
correctly matched? 

Crop Variety 

(a)  Groundnut Kaushal 

(b)  Mustard : Vardan 

(c)  Linseed : Chamatkar 

(d)  Gram : Udai 

GS-B 9 L P.T.O. 
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PART—fl: COMPUTER I flTtfl:  

31. 1-i1iRi C variable  declaration 31. Assume the following C variable 
declaration 

int*A[1O], B[1O][1O]; 

Among the following expressions, which 
will not give compile time errors if 
used as left-hand side of assignment 
statements in a C program? 
I. A[2) II. A[2][3] 
III. B[1] IV. B[2] [3] 
(a) I, II and N only 
(b) II, III and N only 
(c) II and IV only 
(d) N only 

32. What is the output of the following 
C program? 

# include 
mt main () 

mt index; 
for (index= 1; index <= 5; index ++) 

printf (°%d", index); 
if (index = =3) 

continue; 

(a) 1245 (b) 12345 
(c) 12245 (d) 12354 

33. What is the meaning of the following 
declaration in C programming language? 

int(* p) [51; 
(a) It will result in compile error 

because there should not be any 
parenthesis, i.e., "mt *p[5}" is valid 

(b) p is a pointer to 5 integers 
(c) p is a pointer to integer array 
(d) p is a pointer to an array of 

5 integers 

34. In the relation R= ((1, 2), (2, 3)), the 
minimum number of ordered pairs that 
must be added to this set, so that the 
enlarged relation is reflexive, symmetric 
and transitive, is 
(a) 4 (b) 5 
(c) 6 (d) 7  

int*A[1O], B[1O][1O1; 

 TRTI ct1{-T/  Zi 
I~ rt Tn/t, c i' 

i4)'i 1ii rr? 

32. fi C 3u11W1 l f4cf (output) i ii? 

# include 
mt main () 

mt index; 
for (index= 1; index<=5; index ++) 
{ 

printf (%d, index); 
if (index==3) 

continue; 

(a) 1245 (b) 12345 

(c) 12245 (d) 12354 

33. C S)MlI41 i TT 11R declaration I 1 
a 

int(*[5]; 

(a) t-'iii L4Uçf f'i c11 i 
.ii 31I 

"mt *p{S]" W 

(b) p, 

(c) p, I'4T% 

(d)  

34. fi ii 1ki.i R= ((1, 2), (2, 3)) PliH 1i 
rr cit1  fkTT 

ft1w, 1I1 ifii 

(a) 4 (b) 5 

(c) 6 (d) 7 

A[2] [31 

B[2) 13] 
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is given by 

(a) 1 

(c) X 

(b) 0 

(d) X' 

35. The range of the function 

f(x)=x2 /(1+x2) is 

(a) (_oo, +oo) 

(b) (0, oo) 

(c) (_oo,  0] 

(d) 10, 1) 

36. A and B are two 8-bit numbers such 

that A~ B < 28. The number of possible 

combinations of A and B is 

(a) 2 (b) 28  

(c) 216 (d) 2-1 

37. Which of the following is tautology? 

(a) avb-*bAc 

(b) aAb-bvc 

(c) avb-(b-c) 

(d) None of the above 

38. From a complete graph by removing 
maximum edges, we can construct 
a spanning Vree. 

(a) e-n+1 (b) n-e+1 

(c) n+e-1 (d) e-n-1 

39. In how many ways can 8 Indians, 4 
Americans and 4 Englishmen be seated 
in a row so that all persons of same 
nationality sit together? 

(a) 3!4!8!4! (b) 3!8! 

(c) 4!4! (d) 8!4!4! 

40. The total number of words formed by 
2 vowels and 3 consonants taken from 
4 vowels and 5 consonants is 

(a) 60 

(b) 120 

(c) 7200 

(d) None of the above 

41. The output F of the circuit  

35. Hf(x)=x2 /(1+x2)t% 

(a) (_oo, ~oo) 

(b) (0, co) 

(c) (_oo, 01 

(d) EQ 1) 

36. A 3 B 8 iZ wit' , 

A+B~28. A 3t1 B ci'iI 14 

m  

(a) 2 (b) 28  

(c) 216 (d) 2-1 

37. fr . ' •r4-11 iTfl ? 

(a) avb-+bAc 

(b) aAb-bvc 

(c) avb-*(b-*c) 

(d)  

38. ___ i 

GIFT  

(a) e-n+1 (b) n-e+1 

(c) n+e-1 (d) e-n-1 

39. 5 '11b 8 4 3 4 

(a) 3!418!4! (b) 3!8! 

(c) 4!4! (d) 8!4!4! 

40. 4 3 5 c 2 3 3 o4 

i 1'iIL TT 1ct ? 

(a) 60 

(b) 120 

(c) 7200 

(d)  

41. lf 

x 
T  (output) FfDR ii n? 

(a) 1 (b) 0 

(c) X (d) X' 

/25-B 11 1 P.T.O. 
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42. Which of the following is a memory 
element? 

(a) NAND gate 

(b) SR flip-flop 

(c) NOT gate 

(d) Universal gate 

43. Which of the following is a universal 
gate? 

(a) NOT (b) NAND 

(c) OR (d) AND 

44. The binary equivalent of the Gray code 
11100 is 

(a) 10111 (b) 00111 

(c) 01011 (d) 10101 

45. Which one of the following is not 
necessarily a property of a group? 

(a) Commutativity 

(b) Associativity 

(c) Existence of inverse for every 
element 

(d) Existence of identity 

46. What is the possible number of reflexive 
relations on a set of 5 elements?  

42. fTI 4-1 1 memory element %? 

(a) NAND 

(b) SR flip-flop 

(c) NOT? 

(d) 1c44c1 

43. I{ 4{-T 1 jci4ci 

(a) NOT (b) NAND 

(c) OR (d) AND 

44• j q  11100 1 ii.iO w1ct  % 

(a) 10111 (b) 00111 

(c) 01011 (d) 10101 

r't ? 

(a)  

(b)  

(c) 3F iIt! siPi 31T qfi 
il 

(d) WR"4 T .i1 

46. 

I I ? 

(a) 210 (b) 215  

(c) 220 (d) 225  

(a) 210 (b) 2' 

(c) 220 (d) 225  

47. From the given digits 

2, 2, 3, 3, 3, 4, 4, 4, 4 

how many 4-digit numbers greater than 
3000 can be formed? 

(a) 50 (b) 51 

(c) 52 (d) 54 

48. What is the maximum number of 
different functions involving n Boolean 
variables? 

(a) n2 (b) 2 

(c) (d) 2 

/2 5-B 12  

47. 1T! Tt 3 

2, 2, 3, 3, 3, 4, 4, 4, 4 

3000 3IfIi 4 Ii;ft tii i-u 

(a) 50 (b) 51 

(c) 52 (d) 54 

48. n 3TftI?N f& Th 
 4Ict ? 

(a) n2 (b) 2 

(c) 2 (d) 2" 
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49. The number of equivalence relations of 
the set {],Z3,4)  is 

(a) 4 (b) 24 

(c) 25 (d) 15 

50. What is the range of the following 
function? 

(a) {4, 9, -3) 

(b) {8} 

(c) {(4, 8), (9,2), (-3, -4)) 

(d) {8,2,-4) 

51. In the given graph identify the cut 
vertices 

(a) Band E 

(b) Cand D 

(c) AandE 

(d) C and B 

52.  monitors user's activity on 
Internet and transmits that information 
in the background to someone else. 

(a) Maiware 

(b) Spyware 

(c) Adware 

(d) None of the above 

53. A portion of the polymorphic virus, 
generally called a _____, creates a 
random enclyption key to enciypt the 
remainder of the virus. 

(a) polymorphic engine 

(b) multiple engine 

(c) mutual engine 

(d) mutation engine 

54. SSID stands for  

49. Z {1, 2,3,4) k1Mq,1 Ti1 W1 

(a) 4 (b) 24 

(c) 25 (d) 15 

i ? 

(9,2), (-3, -4)) 

50. 14 'sw 3  

((4, 8), 

(a)  (4, 9, -3) 

(b)  (8) 

(c)  ((4,8), (9,2), (-3, -4)) 

(d)  {8,2,-4) 

51. 1 7f cc i'i 

(a) BE 

(b) CD 

(c) ARE 

(d) C3B 

52.  R 4Icbc1 1I1111T 
IRI41 ct.cir % 
ifi tlT 1d c11 

(a)  

(b)  

(c) &.sR 

(d)  

53. 3IT Tlè41T1ct c4J 4 t5 1 
 1 1I(11 5?  

I91 1  L4 IlH 5ft *IRII % I 

(a) TIci, 

(b) 1 1~Mf H 

(c) 1 

(d) l-I.1 '*{ 

54. SSID 1*icM H1TU q 

(a)  

(b)  

(c)  

(d)  

(a)  

(b)  

(c)  

(d)  

Secure Service Identifier 

Secure Set Independent Device 

Service Set Identifier 

Service Set Independent Device  

Secure Service Identifier 

Secure Set Independent Device 

Service Set Identifier 

Service Set Independent Device 

/25-B 13 [ P.T.O. 
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55. The number of columns in a state table 
for a sequential circuit with m flip-flops 
and n inputs is 

(a) m+n (b) m+2n 

(c) 2m+n (d) 2m+2n 

56. Which of the following does not have 
8 data lines? 

(a) 8085 (b) 8086 

(c) 8088 (d) Z80 

57. The Boolean expression X+X'Y equals 

(a)  

(b)  

(c)  

(d)  

58. A computer has 32 MB memory. How 
many bits are needed to access any 
single byte in the memory? 

(a) 25 (b) 16 

(c) 24 (d) 20 

59. A computer has 128 MB memory. Each 
word in this computer is of 8 bytes. How 
many bits are required to address any 
single word in the memory? 

55. 2 4i , II 
m ifip-flops 3t n , f& Ti4 1)? 

(a) m+n (b) m+2n 

(c) 2m+n (d) 2m+2n 

56. 1I li 8 1 ii r1 tft ? 
(a) 8085 (b) 8086 

(c) 8088 (d) Z80 

57. Ij1H 3fT1f x+x'Y wi 
(a)  

(b)  

(c)  

(d)  

58. 32 MB ui L '- i i fmi  

31lc4ctctl 'fl? 
(a) 25 (b) 16 

(c) 24 (d) 20 

59. 128 MB 

3iiMi 

(a) 27 (b) 24 

(c) 23 (d) 25 

(a) 27 (b) 24 

(c) 23 (d) 25 

60. To achieve parallelism, one needs a 
minimum of 

(a) 2 processors 

(b) 3 processors 

(c) 4 processors 

(d) None of the above 

61. Consider a disk pack with 16 surfaces, 
128 tracks per surface and 256 sectors 
per track. 512 bytes of data are stored in 
a bit in serial manner in a sector. The 
capacity of the disk pack and the 
number of bits required to specif, a 
particular sector in the disk are 
respectively 

(a) 256 MB, 19 bits 

(b) 256 MB, 28 bits 

(c) 512 MB, 20 bits 

(d) 64 GB, 28 bits 

60. 1c1c1l 

31Ic1I t?ft 
(a) 2 1*i 

(b) 3 

(c) 4 1*R 

(d) m1R 

61. 16 , MII &T 128 act) 3 MI1  c4 

256 fii 

I ft  

d&1 %, T1: 

(a) 256 MB, 19 1Ic!. 

(b) 256 MB, 28 r 

(c) 512 MB, 20 1 
(d) 64 GB, 28 r 
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62. Which of the following is not true 
regarding registers? 

(a) Internal storage of CPU 

(b) Can hold either data or instruction 

(c) Made up of flip-flop 

(d) Cannot store intermediate results 

63. While implementing a stack on a register 
stack, the stack pointer register is 

(a) incremented first during push 
operation 

(b) decremented first during push 
operation 

(c) incremented first during pop 
operation 

(d) decremented first during pop 
operation 

64. Zero address instructions are 
implemented with the help of 

(a) queue 

(b) stack 

(c) register 

(d) None of the above 

65. Switching between a supervisor mode 
and a user mode for a processor is 
usually done by a 

(a) subroutine call 

(b) branch instruction 

(c) software interrupt 

(d) None of the above 

66. Which one of the following is used to 
read the control words sequentially from 
the control memory? 

(a) Microprogram address register 

(b) Microprogram counter 

(c) Control memory address register 

(d) Program counter 

62. 4-r I? 

(a) CPU 1 3iiiFc  

(b) 1 1T ctl.{ tctci1 

(c) Flip-flop R1 

(d)  

63. kr+k c4, 1 jf 

(a)  31 1 31TL1I.1 ' 1u4 

(increment) elc1T % 

(b)  T 31T'H kW 3 

(decrement) tc1T 

(c)  'k14 T4 aiTt.i '1 

(increment) chk11 

(d)  31IH kt-{ L1 ar 
(decrement) cI(ç1 

64.  itI ct14 1 I-1 141c11 k1NdF 

3L11'1JI )c1F ? 

(a)  

(b)  

(c) (Ik 

(d)  
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67. Which of the following can be used to 
track the tasks of a project, when the 
estimation of task time is fairly 
uncertain? 

(a) Decision table 

(b) Case tools 

(c) DFD 

(d) PERT 

68. Which technology emphasizes parti-
cipative development among system 
owners, users, designers and builders? 

(a) FAST 

(b) RAD 

(c) JAD 

(d) OOD 

69. The best suited hidden surface 
algorithm to deal with non-polygonal, 
non-planar surface patches is 

(a) Z-buffer algorithm 

(b) ray tracing algorithm 

(c) painter's algorithm 

(d) scan line algorithm 

70. Raster images are commonly called 

(a) pixmap 

(b) bitmap 

(c) Both (a) and (b) 

(d) None of the above 

71. A scaling transformation changes the 

(a) size of an object 

(b) location of an object 

(c) shape of an object 

(d) Both (a) and (b) 

72. One of the disadvantages of pass by 
reference is that the called function may 
inadvertently corrupt the caller's data. 
This can be avoided by 

(a) passing pointers 

(b) declaring the formal parameters 
constant 

(c) declaring the actual parameters 
constant 

(d) All of the above  

67. iP- Iii 4'i 14kHF 
I ii ii 1b1l %, c44 q 

3iti rr1d ir %? 
(a) f1i'w 
(b) {  

(c) DFD 

(d) PERT 

68. dct-ilcb f&.i HiI-i, Ic1I31, 

r1 

(a) FAST 

(b) RAD 

(c) JAD 

(d) OOD 

69. (lrIH f.{ cIi1kçH, Ri -11IR1Ji).1T, 

(a) Z-H ciifkq 
(b) fi iii1kç 
(c) clTIH 

(d)  ii-T 1rnc1 

70. thHi-4cf: ctf cf '1lcIl 

(a)  

(b)  

(c) (a) 4'i (b)  

(d)  

71. i*iq,T,-j m 11c1i 

(a) 311e' 1 3iHi4 

(b)  

(c) 31i 39 

(d) (a) 4'I (b) c

72.41 

II41 T11 L,c*.{ R511 

1lxi1 1J_{ ' 1I Rl 4I 
T1 c1l 

(a) qT1PT 

(b) 4I i4k1 
(c)  

(d) th fl 

/25-B 16 

https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/


73. Which of the following is not a primitive 
data type? 

(a) Boolean 

(b) Byte 

(c) String 

(d) Double 

74. The statements 

string varl[ 1; 
varl=new string[3]; 
system.out.println(varl [lfl; 

print 

(a) an empty string 

(b) null 

(c) 0 

(d) a garbage character 

75. Every EJB class file has 

(a) one accompanying interface and 
one XML file 

(b) one accompanying interface and 
two XML files 

(c) two accompanying interfaces and 
one XML file 

(d) two accompanying interfaces and 
two XML files 

76. In unit testing of a model, it is found 
that for a set of test data, at the 
maximum 90% of the code alone were 
tested with the probability of success 
09. Then the reliability of the model is 

(a) greater than 09 

(b) equal to 09 

(c) at most 081 

(d) at least l/081 

77. Which of the following activities does 
not belong to implementation phase of 
SDLC? 

(a) Program testing 

(b) File conversion 

(c) User training 

(d) New changes to the system  

73. i 1-1T I q 4'tfi W1 ? 

(a) jrci'i 

(b)  

(c) f1 

(d) .c1 

74. R 

string varl[]; 
varl=new string[3J; 
system.out.printin (van [1]); 

Ifr  cJ( 

(a)  

(b) RT (null) 

(c) 0 

(d)  

75. Mcc4 &JB 1 fcbi 

(a) t  4t14 iiI T 1 XML  

(b) XMLq,f 

(c) 1cU T XML ifqr 

(d) *ii 31dwa 1 XML *s1)i 

76.TTsqjf i 

90% fi 0.9 

Icic4*1.I14c1F I11 

(a) 093Tf 

(b) 0.9 

(c) 3TftT1'1 081 

(d) R-- 1/081 

77. i .i —ft it1Ift SDLC  
wt ft? 

(a) MI1tTTU1 

(b) T1 Mlkqclf 

(c) Ict1 si1ipii 

(d) iuiift IT lc1I4 
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78. Project risk factor is considered in 

(a) waterfall model 

(b) prototyping model 

(c) spiral model 

(d) iterative enhancement model 

79. According to PUTNAM, the project effort 
is inversely proportional to the fourth 
power of the development time. 
Doubling the development schedule for 
a 100 Person-Month (PM) project would 
reduce the project effort to 

(a) 50 PM 

(b) 716 PM 

(c) 25 PM 

(d) 625 PM 

80. In virtual memozy paging, page size and 
frame size have which of the following 
relations? 

(a) Both are of equal size 

(b) Both are of unequal size 

(c) The page size is exactly half of the 
frame size 

(d) The page size is twice the frame size 

81. To change the command prompt in 
UNIX, one can use 

(a) grep (b) ls 

(c) psi (d) pwd 

82. Which of the following page replacement 
algorithms requires futuristic infor-
mation about page references? 

(a) FIFO 

(b) LRU 

(c) Second chance 

(d) Optimal 

83. A process refers to 5 pages A, B, C, D, E 
in the order 

A; B; C; D; A; B; E; A; B; C; D; E 

If the page replacement algorithm is 
FIFO, the number of pages which 
transfer with an 'empty internal store of 
3 frames' is 

(a) 8 (b) 10 

(c) 9 (d) 7  

78. M1* Ikc4 c(  1-{ 1ff 

I4RUfl4 )cIT %? 

(a) c1I('tl'f lis'f 

(b) ki1i HII 

(c) 4(f MIci 

(d) 1I1 

79. PUTNAM 11R 41k4i11  ii*1 

iwl tm1 (11y 1Mcf 1II 
T 100 oqfh-M  (PM) 411'*11 

1.ii 

I 1It,'I1 

(a) 50 PM 

(b) 716 PM 

(c) 25 PM 

(d) &25 PM 

so. 41 1r 

iiw ir? 

(a) MI41T'1cfl 

(b)  31tcfl 

(c) T III, iif c1ct 31fI 

(d)  

81. UNIX   11 ci r-  iu1f 1ii 

IR11 

(a) grep (b) is 

(c) PS 1 (d) pwd 

82. iR ~I-lT T  ik lIT1kca 41, 
(1T ) it-scttO 

(a) FIFO 

(b) LRU 

(c)  

(d) iT11ci 

83. t  i4 5 1 A, B, C, D, E 

A;B;C,D;A;E;A;B;C, 1Y,E 

R iff iMT  i rI i  

ciiT1ki FIFO %, Tff, I't 'empty 

internal store of 3 frames' 

Hi,:1yI 

(a) 8 (b) 10 

(c) 9 (d) 7 
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84. flTh 

main () 

printf ("1'); fork ( ); 
printf ("2); fork ( ); 
fork ( ); printf("3'); 

84. The number of 3's in the output of the 
program 

main () 

{ 
printf(" 1"); fork ( ); 
printf ("2"); fork (); 
fork ( ); printf("3"); 

fiu1•i (output) 3 3 

(a) 16 (b) 8 

(c) 4 (d) 2 

is 

(a) 16 (b) 8 

(c) 4 (d) 2 

85. The data blocks of a very large file in 
UNIX file system are allocated using 

(a) contiguous allocation 

(b) linked allocation 

(c) indexed allocation 

(d) an extension of indexed allocation 

86. If a function does not modify the 
database, the purity level is 

(a) RNDS (b) WNPS 

(c) RNPS (d) WNDS 

87. Which of the following concurrency 
control protocols ensure(s) both conflict 
serializability and freedom from 
deadlock? 

I. 2-phase locking 

II. Timestamp ordering 

(a) I only 

(b) II only 

(c) Both I and II 

(d) Neither I nor II 

88. In RDBMS, different classes of relations 
are created using  technique to 
prevent modification anomalies. 

(a) functional dependencies 

(b) data integrity 

(c) referential integrity 

(d) normal forms  

85. UNIX 'T f1.4 TT 
iT iiPi ir 'ii  % 

(a) 1ftf 3!TZT aRt 

(b) 3TI aRE 

(c) 31bIcT 31Z RE 

(d) EficI 3TfE1 

86. i1 Q,c4 14j f 4f.i .j -, 
l % 

(a) RNDS (b) WNPS 

(c) RNPS (d) WNDS 

87. 1 -{-W/ wc1c1t PU1U 

(concurrency control)  111ct 

I. 2-T ii1'i 

II. Il-'4 3ftTT 

(a) lI 

(b) H 

(c) I3IIc).i 

(d) I,TtII 

88. RDBMS iull 1wir41 i't 
qT 

(a) 'tc4Hcf 1f 

(b) i1Ii1 

(c) IicI iQ 

(d) T14T f4H 
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89. Which of the following is not a record-
based data model? 

(a) Relational model 

(b) Hierarchical model 

(c) E-R model 

(d) Network model 

90. If transaction A holds a shared lock R 
and if transaction B also requests for a 
shared lock on R, it will 

(a) result in a deadlock situation 

(b) immediately be granted 

(c) immediately be rejected 

(d) be granted as soon as it is released 
by A 

91. A data model is a collection of 
conceptual tools for describing 

(a) data and data relationship 

(b) data semantics and consistency 
constraints 

(c) data, data relationship, data 
semantics and consistency 
constraints 

(d) None of the above 

92. The difference (—) operation removes 
common tuples from the first relation. 
This operation is 

(a) commutative and associative 

(b) non-commutative and associative 

(c) commutative and non-associative 

(d) non-commutative and non- 
associative 

93. Which of the following is possible 
security threat? 

(a) Information destruction 

(b) Information alteration 

(c) Information release 

(d) All of the above 

94. Salami attack is for 

(a) website defacement 

(b) controlling the website 

(c) financial crimes 

(d) Internet time theft 

89. 1 c4w- i fti- r ii rt %? 

(a) 1ki.if 4-lISef 

(b) l31kr HI  

(c) E-R 1II 

(d) Hii 

90.  VctI{ A l R 11 3 R 
I1ctH B 

(a) ,9 i1iT (deadlock) 

(b)  

(c)  1)R1th% 

(d) A iU m j.- j j 

r 
ir %, 1i- ii 

(a) 1 1 l -$ 

(b) (  i 

(c) 1, l T, t fP  i 

•6TEf 

(d) 

92. 3?R (—) 3ii.i TtT i 3T tuples 

r ir % I 31LlI.1 11 

(a) I4-.P.c 3:r *14'IJFI 

(b) 3R i4fl 

(c) T1~c 31 

(d) 3t R-i414) 

93. P14-i irIi rp :4;).{-fl ? 

(a) -i'iI-{ ri-t 

(b) -'4iI-I 3iTc'.H 

(c) -'4TI{ ftfti 

(d) 4th 

94. 1ii iii 

(a) l*1I 1 .-'4'4 1i'tis.it 

(b) ii 1 

(c) IfrT 31T- 

(d) - k W-I-T 
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95. What is multipartite virus? 

(a) Hybrid of macro virus and stealth 
virus 

(b) Hybrid of virus and worms 

(c) Hybrid of ActiveX and Java control 

(d) Hybrid of program virus and boot 
sector virus 

96. The main purpose of the Data Protection 
Act is to 

(a) protect personal privacy 

(b) prevent viruses 

(c) increase the security of computer 
systems 

(d) reduce project failures 

97. What is data encryption standard 
(DES)? 

(a) Block cipher 

(b) Stream cipher 

(c) Bit cipher 

(d) None of the above 

98. Which of the following represents 
stealing the ideas or stealing the 
creations of others? 

(a) Plagiarism 

(b) Intellectual Property Rights 

(c) Piracy 

(d) All of the above 

99. Which of the following protocols may be 
used for accessing World Wide Web? 

(a) HTT'P 

(b) SMTP 

(c) SLIP 

(d) None of the above 

100. Web pages are created in a language 
called 

(a) SLIP 

(b) HTML 

(c) HTTP 

(d) WWW 

95. 1'ii1  

(a) st c4I1{ I c4jf 

(b) cw  I 4 
(c) ActiveX T Java cfri T k1tk 

(d) 1I4 cii4k 1 c4iqf T k1t 

96. ti RUI 3ftT1PT1 1 i *T 

(a) o41tIc1 it'i-flcii 
(b) 1IR{)ct11 

(c) l 4- f*i 1T 4HF 

(d) tc11 

97. zT ini iIlct (DES) i ? 

(a) 11 

(b) +{14 (i4'. 

(c) 1'k iti 

(d) mct1 

98. 1.{ 1ii ii *iii 

(a)  

(b)  

(c) 1I).kfl 

(d) dL4 . th %f 

i)Tii ir r? 
(a) HTTP 

(b) SMTP 

(c) SLIP 

(d) mctif 

100.1 

(a) SLIP 

(b) HTML 

(c) HTFP 

(d) WWW 
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101. Which of the following is a valid domain 
name? 

(a) .com 

(b) .gov 

(c) .net 

(d) All of the above 

102. MIME stands for 

(a) Multipurpose Internet Mail 
Exchange 

(b) Multiple Information Main 
Exchange 

(c) Multipurpose Internet Mail 
Extensions 

(d) Multipurpose Information Main 
Extensions 

103. URL stands for 

(a) Unique Resource Locator 

(b) Universal Resource Locator 

(c) Uniform Resource Locator 

(d) United Resource Locator 

104. To jump from one page to another page, 
which of the following is used? 

(a) <A HREF>  

(b) <link> 

(c) <jump> 

(d) None of the above 

105. What is the by default time in minutes 
when a page session ends and if user 
does not refresh or request page? 

(a) 10 

(b) 15 

(c) 20 

(d) 25 

106. Search engine is used 

(a) to search document on web 

(b) to search the file on host computer 

(c) to search data in a file 

(d) None of the above 

107. On what type of switching does Internet 
work? 

(a) Circuit 

(b) Bit 

(c) Packet 

(d) Line  

101. 4TRT1% 

(a) .com 

(b) .gov 

(c) .net 

(d) tf1 

102. MIME 11c4I ffw 
(a) Multipurpose Internet Mail 

Exchange 

(b) Multiple Information Main 
Exchange 

(c) Multipurpose Internet Mail 
Extensions 

(d) Multipurpose Information Main 
Extensions 

103. URL 
(a)  

(b)  

(C) 
(d) 

104. fiPR 

i 
Locator 

Locator 

Locator 

Locator 

Iir 1IR 

Unique Resource 
Universal Resource 

Uniform Resource 

United Resource 

fk1c14 1F q)1? 

(a)  <A HREF>  </A> 

(b)  <link> 

(c)  <jump> 

(d)  

105. 1 1ki i 1k* RI 

q,1T 3 I i4 11RI um %, •it 

10 (a)  

(b)  15 

(c)  20 

(d)  25 

106. t4 1 M4W c1i % 
(a)  

(b)  fit. - 

(c)  

(d)  

107. 
(a)  

(b)  

MR rrir 'm cIc11 %? 
i1x 

i 

(c)  

(d)  c1I{ 
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108. What is related to application 
development strategies? 

(a) Brainstorming 

(b) Technical planning 

(c) Writing the creative brief 

(d) All of the above 

109. Which of the following techniques is 
used for transmitting digital signal? 

(a) Amplitude modulation 

(b) Frequency modulation 

(c) Pulse code modulation 

(d) Amplitude shift keying 

110. Which of the following is an advantage of 
computer networks? 

(a) Resource sharing 

(b) Improving reliability and availability 

(c) Enhancing performance 

(d) All of the above 

111. A network spreading in different 
geographical locations is known as 

(a) LAN 

(b) WAN 

(c) Both (a) and (b) 

(d) None of the above 

112. Which of the following is a token-based 
protocol? 

(a) CSMA/CD 

(b) Slotted ring 

(c) Both (a) and (b) 

(d) None of the above 

113. The number of layers in ISO-OSI 
reference model is 

108. kdlH 11'4 4fl 

(a) Th11I 

(b) tIcft 4'kii uii 

(c) (*iici 1i.ii 

(d)  

109. rr1f Th M*lltkcl c 1i jf j 
fs 1T ir si41r )c11 ? 

(a) k1vi iTsjjI4 

(b) ct41 Ti.c 

(c) 'T M1cI.f 

(d) fv1 fi c1if 

110. 1 k—i ctq  ki4 i i PT 

(a)  

(b) ii  

(c) hT-+i clI.1i 

(d) 1m 

111. Lc4, ir i4'TI 31lI11T 11 
c4  

(a) LAN 

(b) WAN 

(c) (a) (b) c1 

(d) Th R1 

112. 1IT i -IT i f- c*1f ? 

(a) CSMA/CD 

(b) ii~ fi 

(c) (a) 3R (b) cI1 

(d)  

113. ISO-OS! - 9;-k lIci I)c1-1 iI •kf ? 

(a) 5 (b) 7 

(c) 9 (d) 6 

(a) 5 (b) 7 

(c) 9 (d) 6 

/25-B 23 [ P.T.O. 

https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/


114. In the following pairs of OS! reference 
layers/sublayers and their functionality, 
the incorrect pair is 

(a) network layer and routing 

(b) data link layer and bit 
synchronization 

(c) transport layer and end-to-end 
process communication 

(d) medium access control sublayer 
and channel sharing 

115. What is the maximum number of 
characters (7 bits + parity) that can be 
transmitted in a second on a 192 kbps 
line? This asynchronous transmission 
requires 1 start bit and 1 stop bit. 

(a) 192 

(b) 240 

(c) 1920 

(d) 1966 

116. In which layer of network architecture, 
the secured socket layer (SSL) is used? 

(a) Physical layer 

(b) Session layer 

(c) Application layer 

(d) Presentation layer 

117. The address resolution protocol (ARP) is 
used for 

(a) finding the IP address from DNS 

(b) finding the IP address of the default 
gateway 

(c) finding the IP address that 
corresponds to a MAC address 

(d) finding the MAC address that 
corresponds to an IP address 

118. The number of crosspoints needed for 
10 lines in a crosspoint switch, which is 
full duplex in nature and there is no 
self-connection, is 

(a) 100 (b) 45 

(c) 50 (d) 90  

114. OS! M;-1 TT/4    cP1TT 

1PR  1i cf  

(a) k1 tl 

(b) ZT f1ct i j is.iit4 

(c) iki tT?T 3R —-1 i1ii kR 

(d) T1 Mc( iiiuI W1S1 3R 
IjctUI 

115. 311 3TftT it (7 l + ft) i *, 
1I 192 kbps c14 R 1f 

Iii m icii t? i iji* 

1  1 1 i1Z 

& .% I 

(a) 192 

(b) 240 

(c) 1920 

(d) 1966 

116. kc44 3l1ct4( 14 1TtT fT iT 
ii (ssL) ir tii 

(a) Icbf 1 

(b) 1i4 

(c) iflb.m{ 1 

(d) I4 1R1 

117. k4T I-i i1ctT'f (ARP) i 1r rr 
IR11 

(a) DNSIP *1R 

(b) ri  5T IPThl fi 

(c) MAC 3I IP 1 ( 

I1L& 

(d) T  IP ai MAC T 

118. i sI4i'-c4I f, IdII duplex 

firi çj: rf , 10 c1I1 

ir  

(a) 100 (b) 45 

(c) 50 (d) 90 
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119. In Huffman's coding, if the symbol A has 
probability 03, B has probability 015, 
C has probability 01, D has probability 
025 and E has probability 02, then the 
minimum number of bits required to 
represent all the symbols together is 

(a) 14 (b) 11 

(c) 12 (d) 15 

120. X.21 is 

(a) a method of determining which 
device has access to the 
transmission medium at any time 

(b) a method access control technique 
or multiple access transmission 
media 

(c) very common but oriented at linked 
protocol issued to ISO 

(d) a network access standard for 
connecting stations to a circuit 
switch network 

121. Which type of support for TFTP is 
available from third parties, but is not 
included in Windows NT? 

(a) As client 

(b) As server 

(c) Windows NT includes full TVI'P 
support 

(d) None of the above 

122. Two main types of Internet-based B2B 
commerce are 

(a) net marketplaces and private 
industrial networks 

(b) ED! and collaborative commerce 

(c) net marketplaces and collaborative 
commerce 

(d) ED! and private industrial networks 

123. The media access control sublayer 
resides in which OS! layer? 

(a) Transport 

(b) Network 

(c) Physical 

(d) Data link  

119. rf Md1  A MIIcicIT 03, B 
3iIZctc1i 015, C 01, Dt 025 
O2, flct 

r  - 
iii )11? 

120. X.21 

(a) 1 ciiciF % i c4{— 

i-i14 4fli4 
Tft 

(b) i   c{ ?.1)1k) 1 11IMcf 
L4I t-i1it4 4ffqi 

(c) 3T1T iifrq fI R1cf cf,Tçj t 
ISO9: 

(d) 1 cc Lc{ If{ *~-1 
i1 ir 1Ic1r 

121. TFTP r  c4-1  2 

iT Windows NT u1i wt ? 

(a) itiTf 

(b) k1c1TfT 

(c) Windows NT TVFP *i'i 
n 

(d)  

122. -31l1Tft B2B i1i 

(a) lh'tR 3f4ft icl 

(b) ED! 3t k141'11 i1i'4 

(c) 1h'IR fr *1411i1 eufiq 

(d) ED! 111 1'ic ;kq4; 

123. 41n ct4f k1lg I4 OSI  

(a) fr1'i'lc 

(b)  

(c) 1fctcf 

(d)  
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124. Which of the following is not a 
backtracking algorithm? 

(a) Knight tour problem 

(b) N-queen problem 

(c) Towers of Hanoi 

(d) M-coloring problem 

125. Which of the following is useful in 
traversing a given graph by breadth-first 
search (BFS)? 

(a) Stack 

(b) Set 

(c) List 

(d) Queue 

126. Which of the following algorithm design 
techniques is used in the quicksort 
algorithm? 

(a) Dynamic programming 

(b) Backtracking 

(c) Divide and conquer 

(d) Greedy method 

127. What is the output of the following code 
snippet? 

#include <stdio.h> 
#define var3 

void main () 

short num [3] [2] = {3, 6, 9, 12, 15, 18); 
printf ("%d %d', *(num+1) [1], 

(a)  12 15 

(b)  15 12 

(c)  15 15 

(d)  12 12 

128. For merging two sorted lists of sizes m 
and n into a sorted list of size m + n, how 
many comparisons are required? 

(a) 0(m) 

(b) 0(n) 

(c) 0(10gm +logn) 

(d) 0(m+n)  

124. fkR 1 q'k-1T qii klIT1k44 wt ? 

(a) .1l !lI14 

(b) N-1 iici.i 

(c) t44 3R14 4l 

(d) M—c11khI MTc1 

125. f lI 

(BFS) RT ci4 c 4'ifl ? 

(a) *  

(b) Z 

(c) r

(d) 9. 

126. i kvdlT1k1 i'ii.i 'iq,flq, i 

4W quicksort t iiii ? 

(a) I.fl1ct 'hiiIir 
(b) 41i 
(c) 1'iis i t1.jct, k 

(d) 1l 

127. iPR k1cf (code) T P4ci (output) 11 ? 

#include <stdio.h> 
#deflne var3 

void main () 

short num [3] [2] = (3, 6, 9, 12, 15, 18); 
printf ('%d %d', *(num+1) [1], 

(a)  12 15 

(b)  15 12 

(c)  15 15 

(d)  12 12 

128.m1 n3 tk1 1m+n 

c1.1i3i IIct1I f? 

(a) 0(m) 

(b) 0(n) 

(c) 0(logm+logn) 

(d) 0(m+n) 
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129. Which one of the following is prefix 
representation of the infix expression 
A*(B+C)/D? 

(a) /*A+BCD 

(b) A+B/CD 

(c) ~*AB/CD 

(d) None of the above 

130. A B-tree is of order p and consists of 
n keys. Its maximum height is 

(a) log(/2)  (n + 1)/2 

(b) log n 

(c) log(/2)(n + 1) 

(d) None of the above 

131. The following postfix expression with 
single-digit operands is evaluated using 
a stack 

823A/23*+51*_ 

(Note that A is the exponentiation 
operator.) The top two elements of the 
stack after the first * is evaluated, are 

129. A*(B-s-C)/D T flc*  

(a) /*A+BCD 

(b) A~B/CD 

(c) +*AB/CD 

(d)  

130. B-tree, r141l R p 

(a) log(/2)(n+ 1) /2 

(b) logn 

(c) log ( /2)(n+ 1) 

(d) c1lR1 

131. ffrr-fz ii 1r 

°tq,  T cl ci44 3I1 : 

823A/23*+51*_ 

(tn A t 1iw rTi I) 1  

(a) 6, 1 

(c) 3,2  

(b) 5, 7 

(d) 1,5 

(a) 6,1 (b) 5,7 

(c) 3,2 (d) 1,5 

132. A hash function defined as 
f(key) = key mod 7 with linear probing 
is used to insert the keys 37, 38, 72, 48, 
98, 11, 56 into a table indexed from 
0 to 6. What will be the location of 
key 11? 

(a) 3 (b) 4 

(c) 5 (d) 6 

133. The concatenation of two lists is to be 
performed in 0(1) time. Which of the 
following implementations of lists could 
be used? 

(a) Singly linked list 

(b) Doubly linked list 

(c) Circular doubly linked list 

(d) Array implementation of list  

132. i %i LhH  f(key) = key mod 7 1 , 

cflPiit suIi 4iifi %t 1q1 M1 
1i4' 37, 38, 72, 48, 98, 11, 56l O 

6 ni1i l fiv Iii n 
Ifi 11r1Iii)'ir? 

(a) 3 (b) 4 

(c) 5 (d) 6 

133. Ii* i HiI4 0(1) TlT R1 I 
1;h*{  -c Jq T 

(a)  

(b)  

(c) ii ii 

(d) 1i i i  
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134. -I fl-ii cc1r 
yTti M'ri 1: 

A. t 1. 

B. 2. 

C. fi l 3.  ihII14I 

D. 4. 

(a) A B C D 
2 4 1 3 

134. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I List-H 
A. All-pairs shortest 1. Greedy 

path 
B. Quicksort 2. Depth-first 

search 
C. Minimum weight 3. Dynamic 

spanning tree programming 
D. Connected 4. Divide and 

components conquer 

Codes 

(a) A B C D 
2 4 1 3 

(b) A B C D 
3 4 1 2 

(c)A B C D 
3 4 2 1 

(d) A B C D 
4 1 2 3 

135. Which of the following algorithms solves 
the all-pairs shortest path problem? 

(a) Dijkstra's algorithm 

(b) Floyd's algorithm 

(c) Prim's algorithm 

(d) Warshall's algorithm 

136. Which of the following sorting 
algorithms has the worst time 
complexity of nlog(n)? 

(a) Heapsort 

(b) Quicksort 

(c) Insertion sort 

(d) Selection sort 

137. What is common in three different types 
of traversals (inorder, preorder and 
postorder)? 

(a) Root is visited before right subtree 

(b) Left subtree is always visited before 
right subtree 

(c) Root is visited after left subtree 

(d) All of the above  

(b) A B C D 
3 4 1 2 

(c) A B C D 
3 4 2 1 

(d) A B C D 
4 1 2 3 

135. Ps  I 4-T Irn1 3T—i4 
i1ciii iccii 

(a) ölIT1kq.44 

(b) '+114. nki 

(c) 1I ii1kqi 

(d) T!th9 kc-'iTh. 

136. IfI-{ 144 11i .v-'iTh.q 
nlog(n) t?1t ? 

(a) I4iTcZ 

(b) tkiT 

(c) jiii I1 

(d) ctI4 

137. Pp.4 c41 (I-3, 

ii 

(a)  

(b) T' -t TZ -i 

(c)  

(d) Mmf1 
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138. Which of the following is correct 
recurrence relation for worst case of 
binary search? 

(a) T(n) =2T(n/2) + 0(1) 
T(1) = T(0)= 0(1) 

(b) T(n) = T(n /2) + 0(n) 
T(1)= T(0)= 0(1) 

(c) T(n) = T(n /2) + 0(1) 
T(l) = T(0) = 0(1) 

(d) T(n)= T(n/2)+0(logn) 
T(l) = T(0) = 0(1) 

139. Which of the following traversal 
techniques lists the nodes of a binary 
search tree in ascending order? 

(a) Postorder 

(b) Preorder 

(c) Inorder 

(d) None of the above 

140. A hash table of length 10 uses open 
addressing with hash function 
h(k)=kmodl0 and linear probing. After 
inserting 6 values into an empty hash 
table, the table is shown below 

0 
1 
2 42 
3 23 
4 34 
5 52 
6 46 
7 33 
8 
9 

Which of the following choices gives a 
possible order in which the key values 
could have been inserted in the table? 

(a) 46, 42, 34, 52, 23, 33 

(b) 34, 42, 23, 52, 33, 46 

(c) 46, 34, 42, 23, 52, 33 

(d) 42, 46, 33, 23, 34, 52 

141. C was primarily developed as a 

(a) system programming language 

(b) general purpose language 

(c) data processing language 

(d) None of the above 

138. 

1kii.i ? 

(a) T(n) = 2T(n /2) + 0(1) 
T(l) = T(0) = 0(1) 

(b) T(n) = T(n /2) + 0(n) 
T(1) = T(0) = 0(1) 

(c) T(n) = T(n /2) + 0(1) 
T(1)=T(0)=0(1) 

(d) T(n)= T(n/2)+ 0(logn) 
T(l) = T(0) = 0(1) 

139. It1 c44j 1-{-1, iiO jt 

3I1t I l flci.a cI,1i ? 

(a) i-3ith 

(b) fl-3th 

(c) -ith 

(d) C4)T 

140. 10 T 1 dII1*i, l '414 

h(k)=kmodl0 3 cflP1R u1fP1 

i 

6 Tl dIR-IcbI P141IR %: 

0 

1 

2 42 

3 23 
4 34 

5 52 

6 46 

7 33 

8 

9 

i i-m 1 r4 

Hr4I F 

(a) 46, 42, 34, 52, 23, 33 

(b) 34, 42, 23, 52, 33, 46 

(c) 46, 34, 42, 23, 52, 33 

(d) 42, 46, 33, 23, 34, 52 

141. C j: rId 

(a) ii -fl lifi 

(b) 1Hi-1 T3T 1T 

(c) I Mul 'Tl1 

(d) mti 
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142. The minimum number of temporary 
variables needed to swap the contents of 
two variables is 

(a) I (b) 2 

(c) 3 (d) 0 

143. The program fragment 

mt a=5, b=2; 
printf (%d,a+++++b); 

(a) prints 7 

(b) prints 8 

(c) prints 9 

(d) None of the above 

144. Consider the following program segment 
in C programming language 

i=6720; j=4; 
while ((i%j)==0) 
{i=i/j; j=j+l;} 

On termination, j will have the value 

(a) 4 (b) 8 

(c) 9 (d) 6720 

145. Consider the following segment of 
C code 

intj, n; 
j=1 
while (jcz=n) jj*2; 

The number of comparisons made in the 
execution of the ioop for any n> 0 is 

(a) [1og2n1+1 

(b) n 

(c) [log2nl 

(d) L1og2nJ+1 

146. What will be the output of the following? 

main () 

mt a= A; 
printf (%d, a); 

(a) A 

(b) a 

(c) 65 

(d) Compilation error 

142. th kic1 'l ciT   c IIt 1dH 

is4i r-n ft? 

(b) 2 

(d) 0 

143. 5ftlIT 

mt a=5, b=2; 
printf (" %d', a + + + + + b); 

(a)  

(b) i?fit8 

(c)  ?f9 

(d)  

144. C H1Zi4I T1 lR 
c4 

i=6720; j=4; 
while ((i%j)==0) 
{i=i/j; j=j+l;} 

j , T 4T;T  

(a) 4 (b) 8 

(c) 9 (d) 6720 

145. C cl iR : 

intj, n; 

j= 1 
while (j<=n) jj*2; 

(a) [1og2n1+i 

(b) n 

(c) [1og2n1 

(d) Llog2ni+1 

146. f4{ i 1P1cf (output) i 

main () 

mt a=A; 
printf ( %d, a); 

(a) A 

(b) a 

(c) 65 

(d) iMII-{ 1~ 
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147. What will be the output of the following 
program? 

mt f(int x) 

static mt y; 
y+=x; 

return (y); 

main() 

mt a, i 
for (i'O; i<6; i++) 
a=f(i); 
printf ('%d", a); 

(a) 6 (b) 8 

(c) 10 (d) 15 

148. Which of the following is not a storage 
class specifier in C programming 
language? 

(a) Register 

(b) Volatile 

(c) Extern 

(d) Typedef 

149. In C language 

parameters are always passed by 
values 

parameters are always passed by 
reference 

non-pointer variables are passed by 
value and pointers are passed by 
reference 

(d) parameters are always passed by 
value result 

150. What does the following C statement 
mean? 

scanf ('%4s', str); 

(a) Read exactly 4 characters from 
console 

(b) Read maximum 4 characters from 
console 

(c) Read a string in multiples of 4 

(d) None of the above  

147. 11R Ihw4 t I4ci (output) ii  

mt f (mt x) 

static mt y; 
y+=x; 

return (y); 

main () 

mt a, i; 
for (i=0; i<6; i++) 
a = f (i); 
printf ("%d, a); 

(a) 6 (b) 8 

(c) 10 (d) 15 

148. C ii'i 
c't .{ fi'iii. wt %? 

(a)  

(b) ki1 

(c)  

(d)  

149. C Tl 

(a) t4)c 1 ii 'iicii 
value Tt1 

(b) i41 i1 5T '1tc1F % reference 

(c) non-pointer variables t value TtT 

3 pointers reference TtI T 
IThl 

(d) i41 l it il iiciF % value 
result RT 

150. i1iRct c iii 

scanf ('%4s, str); 

(a) Tii   4 cfr 1 

(b)  

(c) 4 1 if ii j  

(d) thcRf 
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